Tetris v2.0

By Kerm Martian, Kerm_Martian@yahoo.com 
Questions or comments?  Email me at Kerm_Martian@yahoo.com
Notes:


‘(’ is the [sto>] key


‘

Lbl AZ

1(F

Menu(“TETRIS”,”PLAY NOW”,AA,”FREEPLAY”,AF,”HELP”,H,”QUIT”,QQ

Lbl QQ

ClrHome

Disp “TETRIS V 6.0

Disp “BY

Return

Lbl H

ClrHome

Disp “USE THE ARROW”,”KEYS TO MOVE THE”,”PIECES.  THERE ARE”,”FOUR LEVELS

Pause

Goto AZ

Lbl AF

2(F

Lbl AA

F-1(F

0(S

1(N

3((
For(Z,1,96,1

0(L1(Z

End

Lbl A1

Output(1,1,”****SCORE:_*****

Output(8,1,”****LEVEL:_*****

For(Z,2,7,1

For(x,1,(-1,1

Output(Z,X,”*

End

End

0(X

For(Z,2,7,1

If L1(Z)=1

Then

Output((,Z,”O

X+1(X

End

End

If X=6

Then

For(Z,2,7,1

0(L1(Z

End

End

For(Z,2,96,1

If L1(Z)=1

Output(Z-int(Z/8),int(Z/8),”O

End

Output(1,12,S

Output(8,12,N

Lbl A0

RandInt(1,3)(P

1(O

S+10(S

If F=1

Goto AB

If S=100 or S=200 or S=300 or S=400

N+1(N

If S=500

Goto YW

Lbl AB

If P=1

Goto A

If P=2

Goto B

If P=3

Goto C

Lbl A

If O=1 or O=3

Then

Output(A,X,”O

Output(A,X+3,”_

End

If O=2 or O=4

Then

For(Z,A,A+2,1

Output(Z,X+1,”_

Output(Z,X,”O

End

End

If X=(
Goto AD

X-1(X

For(Z,A,A+2,1

If L1(8(X-()+Z)=1

Goto AD

End

End

If O=2 and L1(8(X-()+Z)=1

Goto AD

If O=4 and L1(8(X-()+Z)=1

Goto AD

Goto G

Lbl B

If O=1

Then

Output(A,X,”O

Output(A,X+1,”O

Output(A+1,X+1,”O

End

If O=2

Then

Output(A+1,X,”O

Output(A,X+1,”O

Output(A+1,X+1,”O

End

If O=3

Then

Output(A,X,”O

Output(A+1,X,”O

Output(A+1,X+1,”O

End

If O=4

Then

Output(A,X,”O

Output(A+1,X,”O

Output(A+1,X+1,”O

End

Output(A,X+2,”_

Output(A+1,X+2,”_

If X=(
Goto AD

If L1(8(X-()+A)=1

Then

If O=1 or O=3 or O=4

Goto AD

End

If L1(8(X-()+A+1)=1

Then

If O=2 or O=3 or O=4

Goto AD

End

Goto G

Lbl C

Output(A,X,”O

Output(A+1,X,”O

Output(A,X+1,”O

Output(A+1,X+1,”O

If X=(
Goto AD

If L1(8(X-()+A)=1

Goto AD

If L1(8(X-()+A+1)=1

Goto AD

Lbl G

Getkey(K

If K=0

Goto A1

If K=24

Goto H

If K=25

A-1(A

If K=26

O+1(O

If K=34

A+1(A

If O=5

1(O

If A>7

A-1(A

If A<2

A+1(A

If K=21

Goto PA

Goto A1

Lbl AD

If P=1 and O=1 or P=1 and O=3

Then

For(Z,X,X+2,1

1(L1(8(X-(+Z)+A

End

End

If P=1 and O=2 or P=1 and O=4

Then

For(Z,A,A+2,1

1(L​1(8(X-()+Z

End

End

If P=2 and O=1

Then

1(L1(8(X-()+A

1(L1(8(X-(+1)+A

1(L1(8(X-(+1)+A+1

End

If P=2 and O=2

Then

1(L1(8(X-(+1)+A

1(L1(8(X-(+1)+A+1

1(L1(8(X-(+1)+A

End

If P=2 and O=3

1(L1(8(X-()+A

1(L1(8(X-(+1)+A+1

1(L1(8(X-()+A+1

End

If P=3 and O=4

1(L1(8(X-()+A

1(L1(8(X-(+1)+A

1(L1(8(X-()+A+1

End

If P=3

Then

1(L1(8(X-()+A

1(L1(8(X-(+1)+A

1(L1(8(X-()+A+1

1(L1(8(X-(+1)+A+1

End

Goto A1

Lbl YL

Output(A,1,”***YOU_LOSE!***

Pause

Goto QQ

Lbl YW

Output(2,1,”*YOU_BEAT_TETRIS*

Pause

Goto QQ

Lbl PA

Menu(“P_A_U_S_E_D”,”CONTINUE”,AB,”RESTART”,AZ,”QUIT”,QQ

